
Easter Egg Coordinates
What colour Easter egg is at the following coordinates?

(4,3) =                            

(2,4) =                            

(5,5) =                            

(5,1) =                            

(1,6) =                            

(3,4) =                            

(1,2) =                            

(2,1) =                            
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pink red

orange purple

green grey

yellow blue



Easter Egg Coordinates Answers

(4,3) = purple

(2,4) = grey

(5,5) = blue

(5,1) = pink

(1,6) = red

(3,4) = orange

(1,2) = green

(2,1) = yellow


